e o B3 EU LY EY A
clgof 28 O
nbi h =2 (o} [
snz vz wrr SH=E Hol= vol.55 <
ME1 154 014 o132
% IF=: KOSIS (2024 6HEH|)
 MES ATISH=0IT HEJ|B X <SR- e - snesos 2H
 MEJAJYZSOIF H|E X(Q] - Hex - ansses gn
: % Thg; KosIs * (HY: &3 X8
| HIZ 56.6%
I _ _ _ St=
a 8 X101
: 213 219 218 "'IHII.
: 212 210 28E
i_____2_0_2_3_-_142 _________ 2023.2/2 . 2024.1/2 ____2024.2/2
ME3J HIZHES0N Hi1d E=0]

% XtE: KOSIS % (HQ: M)
*AHES212 + HE WS = (R

173 HIZH g 5017
169
166 166 0171/ 15 014 217 x 100
0121 x 100
2023. 1/2 2023. 2/2 2024. 1/2 2024. 2/2

o = e = o - o

162F 68 ~ 162F oM H ALO|F 7 XSt RULCE



484 154 01 2142

s XHa: KOSIS (20245 1)) 3
a3s
X2
HIZ M 56.6%
25011
165 oM 2
1]

AT mAEI - HZHEST
BHgsE7IEE S57 MESAIE Hlud 2= I, 8

of ROIBtX| B HIE, 3 B4, THA, DHS 5 HIZHES
A

HCF 2k 76% S

Ol=0] ¥ 2

ok
U

M= Al 154 O]4 0132
% XH=: KOSIS (20244 gHEH)))

I3

. gs0l
= _Z\. 3060t
oMY

)
ZH
g2
s
63.8%
x| 21} =
5240t e

THE

m AT BIZHEEQIT

o LT

ST= BHESE7IE0| M2 BT ECH 7.2% RULCL O|= 5F10AM XS

‘A
ofCt o 852 ME8E2 MEA B

BE0| Ct= d 5722 =AM &



Dir

%0 jo)
Ko or

)
s D
B0

<¥ X
3 169

— un Ol 32
|T.M=__o|.|7
ROl D &
._A=4
__ 80
= gl
sl o
KF 5l
o))
80
=lrx
R0 07 10
ol o
— | o
2
..._._m ©
=ol
Sz S
5=
0
- _
= i Ol 2
Pmn e B
._AHG ke T
=i
ol °
i
1
=5
TAOh._A
KO un 1D
m__s.n._.h
ol 25

=3
1541 Ol
% Xtz: KOSIS (2024 D))

st
=

HIZ M

il

wir

g5 Hxtet ofxte| FMEsEtES Hlus) 23S M, dHE

H7r=0] of-J0i| BIdH 14.8% =0, F-d0| O 2L} A0 O H=HO0|H, &2X FEEE: =5

2.6%, 82 3.9%2 o

tAF B H S A=lH 2210 3 A8ot= A= EQlL},

=S

0]

o
=1



ua Ho &0
<0 =TI
A
Ki0 <0 HI|
=T orl o1
KO0 = lir
1
=
®

9
> MEdddH 48
(02-921-5330)

=
rk
JF
nd
&0
==
o
o
l
@
A

L}
fl
wnilh

|
\
sl

VA AT VR | |

§ B \
Y 1
! e \




